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ENTREPRENEURSHIP DEVELOPMENT — HONOURS
Paper : SEC-1

FFull Marks : 75

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

Group - A
Answer any ten questions. 2x10
1. Suate two functions of an entrepreneur.
2. Define Fabian cntrepreneur.
3. State two elements of entrepreneurship.
4. What is innovation?
I3

What do you mean by ‘Public System of Stimulation’?

6. State any two functions of business incubators.

7. What is Angel investors?

8. State two features of business ideas.

9. Define ‘Ecopreneur’.

10. Mention the name of four successful women entrepreneurs in India.
11. State two importances of business plan.

12. Define ‘Micro Enterprises’ as per MSME Act.
13. What is ‘Startup’?

14. What is ‘Crowd funding’?
15. State two functions of ‘Venture Capital Fund’.
Group - B
Answer any five questions. 5%5
16. Briefly explain the role of family business in India.
17.

State the determinants which influence the entrepreneurship.

18. Briefly explain the stages of creativity process in entrepreneurship development.

19. Explain the role of Business Incubators in entrepreneurship development.
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20.
21.
22.
23.

What is business plan? What are the components of a business plan?
State the various types of business layouts.
State the need for finance in entrepreneurship.
What are the methods to solve startup problems?
Group - C

Answer any three questions.

Briefly discuss the values and business philosophy of any two contemporary role models in Indian

business. 55
Explain the reasons of conflict in family business. How can this conflict be resolved? 5+b
Discuss the role of Angle Investors and Private Equity Fund for financing in entreprencurship. s
5+
Mention the various sources of business ideas. Bricfly explain the objectives of ‘test of feasibility’.
5+5
What is Medium Enterprise? State its advantages and disadvantages. 2+(444)




